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D2076

Tamb=25
Vce 45 \Y)
VIN 200 mvVrms
Pp 500 mw
Topr -20~75 °C
Tstg -40~125 °C
Ta=25°C, V'=1.5V
lcc 4.7 7.0 mA
() 1: RL=16Q)
Av ViN=10mVrms 265 | 28 295 | dB
Po1 THD=10%(D, M-Type) 15 175 mw
Poz THD=10%, V'=1.0V 3 mw
THD1 | Po=1mW/(126mVrms/16Q) 04 0.8 %
VNo1 Rg=0, A curve 50 150 | pv
Rg=0, fr=1kHz,
RR1 VR=30mVrms 25 35 dB
Rin 25 33 43 kQ
Vo(bc) 0.62| 0.7 0.77 V
( )BTL ( 2: RL=8Q)
Pos THD=10%(D, M-Type) 75 90 mw
THD=10%,
Pos 1 V=1 0v/(D, M-Type) 20 mw
THD2 | Po=10mwW/(283mVrms/8Q2) 15 | 45 %
VNO2 Rg=0, A curve 85 250 uv
Rg=0, fr=1kHz,
RR2 VR=30mVrms 20 25 dB
AVOo(DC) 50 mvV
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D2076

Total Harmonic Distortion [Stereo)
[V =15V, RL=160, f=1lkHz Test Circuit 1 }

Total Harmonic Distortion (BTL)
(V==15¥, R, =8 [=1kHz, Test Cirguir 2 |
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